## Bid #PNC2115756C1 - Hillsboro Mile Sanitary Sewer Improvements

Start Date Dec 20, 2017 5:44:15 PM EST Awarded Date Not Yet Awarded

PNC2115756C101-01 Payment and Performance Guaranty and Insurance							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$102,000.00	1 / lump sum	\$102,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
Giannetti Contracting Corp.	First Offer - \$135,000.00	1 / lump sum	\$135,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$206,000.00	1 / lump sum	\$206,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
Man Con Inc. [Ad]	First Offer - \$400,000.00	1 / lump sum	\$400,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				

PNC2115756C101-02 Mobilization/Demobilization							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$480,000.00	1 / lump sum	\$480,000.00		Υ		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$720,000.00	1 / lump sum	\$720,000.00		Υ		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$753,000.00	1 / lump sum	\$753,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$1,250,000.00	1 / lump sum	\$1,250,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				
Man Con Inc. [Ad]	First Offer - \$1,300,000.00	1 / lump sum	\$1,300,000.00		Υ		
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:				

PNC2115756C101-03 Maintenance of Traffic								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction, Inc. [Ad]	First Offer - \$98,000.00	1 / lump sum	\$98,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$540,000.00	1 / lump sum	\$540,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$908,770.00	1 / lump sum	\$908,770.00		Υ			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					
Giannetti Contracting Corp.	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Υ			

		Supplier Product	Code:	rage	2 01 20
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,018,000.00	1 / lump sum	\$1,018,000.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

PNC2115756C101-04 Clearing and Grubbing								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction, Inc. [Ad]	First Offer - \$95,000.00	1 / lump sum	\$95,000.00		Υ			
		Supplier Product ( Supplier Notes:	Code:					
Giannetti Contracting Corp.	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$355,000.00	1 / lump sum	\$355,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$616,216.00	1 / lump sum	\$616,216.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$720,000.00	1 / lump sum	\$720,000.00		Υ			
Product Code: Agency Notes:		Supplier Product ( Supplier Notes:	Code:					

PNC2115756C101-05 Restore Private Utilities crossing A1A								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Man Con Inc. [Ad]	First Offer - \$420.00	150 / lot	\$63,000.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$675.00	150 / lot	\$101,250.00		Y			
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:		ode:					
Lanzo	First Offer - \$1,407.00	150 / lot	\$211,050.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,900.00	150 / lot	\$285,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$2,142.00	150 / lot	\$321,300.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-06 F&I, Sanitary Sewer MAS, 0 feet to 6 feet deep								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction, Inc. [Ad]	First Offer - \$4,910.00	16 / each	\$78,560.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5,000.00	16 / each	\$80,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$5,738.00	16 / each	\$91,808.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Lanzo	First Offer - \$6,479.00	16 / each	\$103,664.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

Giannetti Contracting Corp.	First Offer - \$8,277.00	16 / each	\$132,432.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

PNC2115756C101-07 F&I, Sanitary Sewer MAS, 6 feet to 8 feet deep								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5,500.00	15 / each	\$82,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$5,542.00	15 / each	\$83,130.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$6,812.00	15 / each	\$102,180.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$7,252.00	15 / each	\$108,780.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Giannetti Contracting Corp.	First Offer - \$8,828.00	15 / each	\$132,420.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-08 F&I, Sanitary Sewer MAS, 8 feet to 10 feet deep								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction, Inc. [Ad]	First Offer - \$5,700.00	12 / each	\$68,400.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6,600.00	12 / each	\$79,200.00		Υ			
		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$8,094.00	12 / each	\$97,128.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$8,098.00	12 / each	\$97,176.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Giannetti Contracting Corp.	First Offer - \$9,524.00	12 / each	\$114,288.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2115756C101-09 F&I, Sanitary Sewer MAS, 10 feet to 12 feet deep									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ric-Man Construction, Inc. [Ad]	First Offer - \$5,860.00	7 / each	\$41,020.00		Υ				
		Supplier Product Code: Supplier Notes:							
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$7,000.00	7 / each	\$49,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Lanzo	First Offer - \$9,531.00	7 / each	\$66,717.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$9,688.00	7 / each	\$67,816.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:						
Giannetti Contracting Corp.	First Offer - \$11,462.00	7 / each	\$80,234.00		Υ				

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

Property and the first of the second								
PNC2115756C101-10 F&I, Sanitary Se	wer MAS, 12 feet to 1	4 feet deep	•					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ric-Man Construction, Inc. [Ad]	First Offer - \$6,925.00	3 / each	\$20,775.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$8,800.00	3 / each	\$26,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Lanzo	First Offer - \$10,850.00	3 / each	\$32,550.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$12,472.00	3 / each	\$37,416.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Giannetti Contracting Corp.	First Offer - \$16,210.00	3 / each	\$48,630.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

PNC2115756C101-11 F&I, Sanitary Sewer MAS, 14 feet to 16 feet deep						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$7,910.00	2 / each	\$15,820.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$13,000.00	2 / each	\$26,000.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Lanzo	First Offer - \$13,450.00	2 / each	\$26,900.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$17,089.00	2 / each	\$34,178.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$19,345.00	2 / each	\$38,690.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2115756C101-12 F&I, Sanitary Sewer MAS, 16 feet to 18 feet deep							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ric-Man Construction, Inc. [Ad]	First Offer - \$9,825.00	2 / each	\$19,650.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$14,000.00	2 / each	\$28,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Lanzo	First Offer - \$15,725.00	2 / each	\$31,450.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$17,604.00	2 / each	\$35,208.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$23,129.00	2 / each	\$46,258.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

PNC2115756C101-13 F&I, 8 inch Sewer, PVC, 0 feet to 6 feet depth, Including Pvmt Restoration								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$104.00	2137 / linear foot	\$222,248.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$133.00	2137 / linear foot	\$284,221.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$150.00	2137 / linear foot	\$320,550.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$176.00	2137 / linear foot	\$376,112.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$196.00	2137 / linear foot	\$418,852.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-14 F&I, 8 inch Sewe	PNC2115756C101-14 F&I, 8 inch Sewer, PVC, 6 feet to 8 feet depth, Including Pvmt Restoration						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$106.00	1922 / linear foot	\$203,732.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$154.00	1922 / linear foot	\$295,988.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$170.00	1922 / linear foot	\$326,740.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$198.00	1922 / linear foot	\$380,556.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$211.00	1922 / linear foot	\$405,542.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

PNC2115756C101-15 F&I, 8 inch Sewer, PVC, 8 feet to 10 feet depth, Including Pvmt Restoration								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$168.00	2667 / linear foot	\$448,056.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$190.00	2667 / linear foot	\$506,730.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Giannetti Contracting Corp.	First Offer - \$201.00	2667 / linear foot	\$536,067.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$221.00	2667 / linear foot	\$589,407.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Ric-Man Construction, Inc. [Ad]	First Offer - \$222.00	2667 / linear foot	\$592,074.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

PNC2115756C101-16 F&I, 8 inch Sewe	PNC2115756C101-16 F&I, 8 inch Sewer, PVC, 10 feet - 12 feet depth, Including Pvmt Restoration				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$186.00	368 / linear foot	\$68,448.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$225.00	368 / linear foot	\$82,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$231.00	368 / linear foot	\$85,008.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$240.00	368 / linear foot	\$88,320.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$274.00	368 / linear foot	\$100,832.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-17 F&I, 8 inch Sewe	PNC2115756C101-17 F&I, 8 inch Sewer, C909, 14 feet to 16 feet deep, Including Pvmt Restoration						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$203.00	719 / linear foot	\$145,957.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$308.00	719 / linear foot	\$221,452.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$316.00	719 / linear foot	\$227,204.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$360.00	719 / linear foot	\$258,840.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$461.00	719 / linear foot	\$331,459.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-18 F&I, 8 inch Sewe	er, C909, 16 feet to	18 feet deep, Includ	ing Pvmt Restoration	า	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$209.00	373 / linear foot	\$77,957.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$336.00	373 / linear foot	\$125,328.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$505.00	373 / linear foot	\$188,365.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$536.00	373 / linear foot	\$199,928.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$550.00	373 / linear foot	\$205,150.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

<b>PNC2115756C101-</b> 19	F&I, 10	) inch Sewer,	PVC, 0 fee	t to 6 feet	depth,	Including	Pvmt	Restoration	

	oounity of	3111111001011010		Page	e / of 20
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$105.00	473 / linear foot	\$49,665.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$137.00	473 / linear foot	\$64,801.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$170.00	473 / linear foot	\$80,410.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$177.00	473 / linear foot	\$83,721.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$221.00	473 / linear foot	\$104,533.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-20 F&I, 10 inch Sew	er, PVC, 6 feet to 8	3 feet deep, Includin	g Pvmt Restoration			
Supplier	Unit Price	Qty/Unit	Total Price	Total Price Attch.		
Lanzo	First Offer - \$110.00	1995 / linear foot	\$219,450.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$157.00	1995 / linear foot	\$313,215.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	pplier Product Code: pplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$170.00	1995 / linear foot	\$339,150.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc. [Ad]	First Offer - \$201.00	1995 / linear foot	\$400,995.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$223.00	1995 / linear foot	\$444,885.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2115756C101-21 F&I, 10 inch Sewer, PVC, 8 feet to 10 feet deep, Including Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$165.00	740 / linear foot	\$122,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$200.00	740 / linear foot	\$148,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$205.00	740 / linear foot	\$151,700.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$208.00	740 / linear foot	\$153,920.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$233.00	740 / linear foot	\$172,420.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-22 F&I, 10 inch Sewer, PVC, 10 feet to 12 feet deep, Including Pvmt Restoration							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	

		•			ı aye	0 01 20
Lanzo	First Offer -	\$186.00	956 / linear foot	\$177,816.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer -	\$228.00	956 / linear foot	\$217,968.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer -	\$230.00	956 / linear foot	\$219,880.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer -	\$238.00	956 / linear foot	\$227,528.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer -	\$245.00	956 / linear foot	\$234,220.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-23 F&I, 10 inch Sewer, C909, 12 feet to 14 feet deep, Including Pvmt Restoration								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$202.00	987 / linear foot	\$199,374.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$265.00	987 / linear foot	\$261,555.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$293.00	987 / linear foot	\$289,191.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$320.00	987 / linear foot	\$315,840.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$346.00	987 / linear foot	\$341,502.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-24 F&I, 10 inch Sewer, C909, 14 feet to 16 feet deep, Including Pvmt Restoration								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$211.00	341 / linear foot	\$71,951.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$322.00	341 / linear foot	\$109,802.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$323.00	341 / linear foot	\$110,143.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$390.00	341 / linear foot	\$132,990.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$472.00	341 / linear foot	\$160,952.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-25 F&I, 10 inch Sewer, C909, 16 feet to 18 feet deep, Including Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$228.00	373 / linear foot	\$85,044.00		Υ		

	, -			Page 9 of 20
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	Ü
Ric-Man Construction, Inc. [Ad]	First Offer - \$356.00	373 / linear foot	\$132,788.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Giannetti Contracting Corp.	First Offer - \$511.00	373 / linear foot	\$190,603.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Man Con Inc. [Ad]	First Offer - \$545.00	373 / linear foot	\$203,285.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$550.00	373 / linear foot	\$205,150.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PNC2115756C101-26 F&I, 12 inch Sewer, C909, 8 feet to 10 feet deep, Including Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Giannetti Contracting Corp.	First Offer - \$214.00	32 / linear foot	\$6,848.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Lanzo	First Offer - \$245.00	32 / linear foot	\$7,840.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$262.00	32 / linear foot	\$8,384.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$380.00	32 / linear foot	\$12,160.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$520.00	32 / linear foot	\$16,640.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-27 F&I, 12 inch Sewer, C909, 14 feet to 16 feet deep, Including Pvmt Restoration								
·								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$246.00	42 / linear foot	\$10,332.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$336.00	42 / linear foot	\$14,112.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$392.00	42 / linear foot	\$16,464.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$521.00	42 / linear foot	\$21,882.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$610.00	42 / linear foot	\$25,620.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-28 F&I, 18 inch Sewer, C905, 0 feet to 6 feet deep, Including Pvmt Restoration							
Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Offer - \$145.00	735 / linear foot	\$106,575.00		Υ			
	Supplier Product Code:						
	Supplier Notes:						
	Unit Price First Offer - \$145.00	Unit Price Qty/Unit First Offer - \$145.00 735 / linear foot	Unit Price         Qty/Unit         Total Price           First Offer - \$145.00         735 / linear foot         \$106,575.00           Supplier Product Code:	Unit Price Qty/Unit Total Price Attch.  First Offer - \$145.00 735 / linear foot \$106,575.00  Supplier Product Code:			

				1 490 10 01 20
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$220.00	735 / linear foot	\$161,700.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Giannetti Contracting Corp.	First Offer - \$222.00	735 / linear foot	\$163,170.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Man Con Inc. [Ad]	First Offer - \$230.00	735 / linear foot	\$169,050.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction, Inc. [Ad]	First Offer - \$253.00	735 / linear foot	\$185,955.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PNC2115756C101-29 F&I, 18 inch Sewer, C905, 6 feet to 8 feet deep, Including Pvmt Restoration								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo	First Offer - \$146.00	1344 / linear foot	\$196,224.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$230.00	1344 / linear foot	\$309,120.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$250.00	1344 / linear foot	\$336,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$256.00	1344 / linear foot	\$344,064.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$258.00	1344 / linear foot	\$346,752.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-30 F&I, 24 inch Sewer, C905, 0 feet to 6 feet deep, Including Pvmt Restoration								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Giannetti Contracting Corp.	First Offer - \$263.00	21 / linear foot	\$5,523.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Man Con Inc. [Ad]	First Offer - \$297.00	21 / linear foot	\$6,237.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Lanzo	First Offer - \$310.00	21 / linear foot	\$6,510.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$394.00	21 / linear foot	\$8,274.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$750.00	21 / linear foot	\$15,750.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-31 F&I, 24 inch Sewer, C905, 6 feet to 8 feet deep, Including Pvmt Restoration						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo	First Offer - \$261.00	42 / linear foot	\$10,962.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$353.00	42 / linear foot	\$14,826.00		Υ	

				Page II 0120
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Man Con Inc. [Ad]	First Offer - \$361.00	42 / linear foot	\$15,162.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction, Inc. [Ad]	First Offer - \$411.00	42 / linear foot	\$17,262.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$520.00	42 / linear foot	\$21,840.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PNC2115756C101-32 F&I, 24 inch Sewer, C905, 10 feet to 12 feet deep, Including Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$319.00	65 / linear foot	\$20,735.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$376.00	65 / linear foot	\$24,440.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$530.00	65 / linear foot	\$34,450.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$550.00	65 / linear foot	\$35,750.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$562.00	65 / linear foot	\$36,530.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-33 F&I, Sewer Lateral, Single, Including Pvmt Restoration, Concrete Collar							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,400.00	300 / each	\$720,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$2,687.00	300 / each	\$806,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$2,938.00	300 / each	\$881,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$2,955.00	300 / each	\$886,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Lanzo	First Offer - \$3,215.00	300 / each	\$964,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-34 F&I, Sewer Lateral, Double, Including Pvmt Restoration, Concrete Collar							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,600.00	12 / each	\$31,200.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$3,162.00	12 / each	\$37,944.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

				1 ugc 12 01 20	
Ric-Man Construction, Inc. [Ad]	First Offer - \$3,642.00	12 / each	\$43,704.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$4,335.00	12 / each	\$52,020.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Lanzo	First Offer - \$4,421.00	12 / each	\$53,052.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2115756C101-35 F&I, C909 Force Main, 6 inch, Including Restraint, Pvmt Restoration, etc.							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$76.00	3045 / linear foot	\$231,420.00		Υ		
		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$86.00	3045 / linear foot	\$261,870.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$91.00	3045 / linear foot	\$277,095.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc. [Ad]	First Offer - \$131.00	3045 / linear foot	\$398,895.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$155.00	3045 / linear foot	\$471,975.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-36 F&I, C909 Forc	Main Pinah Indu	ding Postroint Dymt	Postorotion		
	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Supplier	1	•		Atton.	
Lanzo	First Offer - \$79.00	10920 / linear foot	\$862,680.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$98.00	10920 / linear foot	\$1,070,160.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$104.00	10920 / linear foot	\$1,135,680.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$110.00	10920 / linear foot	\$1,201,200.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$126.00	10920 / linear foot	\$1,375,920.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2115756C101-37 F&I, C909 Force Main, 10 inch, Including Restraint, Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$87.00	2546 / linear foot	\$221,502.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$110.00	2546 / linear foot	\$280,060.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$120.00	2546 / linear foot	\$305,520.00		Υ		

1				1 age 10 01 20
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Man Con Inc. [Ad]	First Offer - \$123.00	2546 / linear foot	\$313,158.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$149.00	2546 / linear foot	\$379,354.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2115756C101-38 F&I, C909 Force	PNC2115756C101-38 F&I, C909 Force Main, 12 inch, Including Restraint, Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$160.00	26 / linear foot	\$4,160.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Giannetti Contracting Corp.	First Offer - \$163.00	26 / linear foot	\$4,238.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Lanzo	First Offer - \$188.00	26 / linear foot	\$4,888.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Man Con Inc. [Ad]	First Offer - \$201.00	26 / linear foot	\$5,226.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Ric-Man Construction, Inc. [Ad]	First Offer - \$300.00	26 / linear foot	\$7,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2115756C101-39 F&I, C909 Force Main, 16 inch, Including Restraint, Pvmt Restoration							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo	First Offer - \$103.00	7450 / linear foot	\$767,350.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$140.00	7450 / linear foot	\$1,043,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$145.00	7450 / linear foot	\$1,080,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc. [Ad]	First Offer - \$161.00	7450 / linear foot	\$1,199,450.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$199.00	7450 / linear foot	\$1,482,550.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2115756C101-40 F&I, Plug Valve, 6 inch									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Man Con Inc. [Ad]	First Offer - \$1,363.00	4 / each	\$5,452.00		Υ				
		Supplier Product Code: Supplier Notes:							
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Giannetti Contracting Corp.	First Offer - \$1,783.00	4 / each	\$7,132.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

Ric-Man Construction, Inc. [Ad]	First Offer - \$2,044.00	4 / each	\$8,176.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes:					
Lanzo	First Offer - \$2,739.00	4 / each	\$10,956.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2115756C101-41 F&I, Plug Valve, 8 inch									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Man Con Inc. [Ad]	First Offer - \$2,085.00	5 / each	\$10,425.00		Y				
		Supplier Product Code: Supplier Notes:							
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$2,300.00	5 / each	\$11,500.00		Υ				
		Supplier Product Code: Supplier Notes:							
Giannetti Contracting Corp.	First Offer - \$2,535.00	5 / each	\$12,675.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ric-Man Construction, Inc. [Ad]	First Offer - \$2,917.00	5 / each	\$14,585.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Lanzo	First Offer - \$3,151.00	5 / each	\$15,755.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2115756C101-42 F&I, Plug Valve, 10 inch									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Man Con Inc. [Ad]	First Offer - \$3,217.00	3 / each	\$9,651.00		Υ				
		Supplier Product C Supplier Notes:	ode:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,500.00	3 / each	\$10,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Giannetti Contracting Corp.	First Offer - \$3,765.00	3 / each	\$11,295.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ric-Man Construction, Inc. [Ad]	First Offer - \$4,168.00	3 / each	\$12,504.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Lanzo	First Offer - \$4,732.00	3 / each	\$14,196.00		Υ				
		Supplier Product C Supplier Notes:	ode:						

PNC2115756C101-43 F&I, Plug Valve, 16 inch										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Man Con Inc. [Ad]	First Offer - \$7,809.00	5 / each	\$39,045.00		Υ					
		Supplier Product Code: Supplier Notes:								
Giannetti Contracting Corp.	First Offer - \$7,945.00	5 / each	\$39,725.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Lanzo	First Offer - \$11,498.00	5 / each	\$57,490.00		Υ					
		Supplier Product C Supplier Notes:	ode:							
Ric-Man Construction, Inc. [Ad]	First Offer - \$36,700.00	5 / each	\$183,500.00		Υ					

				ragen	3 01 20
Product Code:	Supplier Product C	ode:			
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$37,000.00	5 / each	\$185,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2115756C101-44 F&I, Air Release Valve with Maintenance Access Structure									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Lanzo	First Offer - \$7,136.00	8 / each	\$57,088.00		Υ				
		Supplier Product C Supplier Notes:	ode:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$9,800.00	8 / each	\$78,400.00		Υ				
		Supplier Product Code: Supplier Notes:							
Ric-Man Construction, Inc. [Ad]	First Offer - \$10,400.00	8 / each	\$83,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Man Con Inc. [Ad]	First Offer - \$11,100.00	8 / each	\$88,800.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Giannetti Contracting Corp.	First Offer - \$16,059.00	8 / each	\$128,472.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

DUOCALETEOOL OL 15 FOL DID FINE					
PNC2115756C101-45 F&I, DIP Fittings					
Supplier	Unit Pric	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$12,100.00	5 / ton	\$60,500.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$26,500.00	5 / ton	\$132,500.00		Υ
Product Code:		Supplier Product C	ode:	•	
Agency Notes:		Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$33,900.00	5 / ton	\$169,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$37,000.00	5 / ton	\$185,000.00		Υ
Product Code:	_	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$37,241.00	5 / ton	\$186,205.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2115756C101-46 Connection to E	xisting Lift Station				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc. [Ad]	First Offer - \$22,129.00	4 / each	\$88,516.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo	First Offer - \$25,000.00	4 / each	\$100,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$26,000.00	4 / each	\$104,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$40,000.00	4 / each	\$160,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Ric-Man Construction, Inc. [Ad]	First Offer - \$60,000.00	4 / each	\$240,000.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

PNC2115756C101-47 Lift Station Pum	p Replacement	t				
Supplier	Uni	it Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$22	2,000.00	1 / lump sum	\$22,000.00		Υ
		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$85	5,000.00	1 / lump sum	\$85,000.00		Υ
		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$86	6,000.00	1 / lump sum	\$86,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Man Con Inc. [Ad]	First Offer - \$86	6,632.00	1 / lump sum	\$86,632.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Lanzo	First Offer - \$140	0,000.00	1 / lump sum	\$140,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Gode:		

PNC2115756C101-48 Remove and Disp	oose of Existing Fo	orce Main				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Man Con Inc. [Ad]	First Offer - \$20.40	550 / linear foot	\$11,220.00		Υ	
		Supplier Product Code: Supplier Notes:				
Lanzo	First Offer - \$22.00	550 / linear foot	\$12,100.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$23.00	550 / linear foot	\$12,650.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$29.00	550 / linear foot	\$15,950.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$32.00	550 / linear foot	\$17,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

DNOOTHETEOOL OL 10 AL DI					
PNC2115756C101-49 Abandon in Pla	ce Existing Force M	ain	•		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5.70	8000 / linear foot	\$45,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$9.00	8000 / linear foot	\$72,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$10.36	8000 / linear foot	\$82,880.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$14.00	8000 / linear foot	\$112,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$19.00	8000 / linear foot	\$152,000.00		Υ

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

PNC2115756C101-50 Mill and Resurface	ce Asphalt Paveme	ent			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$10.00	44000 / square yard	\$440,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$14.00	44000 / square yard	\$616,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$16.25	44000 / square yard	\$715,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$17.00	44000 / square yard	\$748,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$19.60	44000 / square yard	\$862,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-51 Furnish and Plac	e 6 inch Thermop	lastic Solid Line			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Lanzo	First Offer - \$1.00	69960 / linear foot	\$69,960.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$1.00	69960 / linear foot	\$69,960.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$1.00	69960 / linear foot	\$69,960.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	Alt 1 - \$1.00	69960 / linear foot	\$69,960.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: re ty	,,		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1.10	69960 / linear foot	\$76,956.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$3.20	69960 / linear foot	\$223,872.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-52 Furnish and Place	ce Temporary Striping				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction, Inc. [Ad]	First Offer - \$6,700.00	1 / lump sum	\$6,700.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ric-Man Construction, Inc. [Ad]	Alt 1 - \$6,700.00	1 / lump sum	\$6,700.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: re	,,		
Lanzo	First Offer - \$25,785.00	1 / lump sum	\$25,785.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Man Con Inc. [Ad]	First Offer - \$28,000.00	1 / lump sum	\$28,000.00		Υ

	county conn			Page 18 of 20
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$30,000.00	1 / lump sum	\$30,000.00	Υ
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		
Giannetti Contracting Corp.	First Offer - \$100,000.00	1 / lump sum	\$100,000.00	Υ
Product Code:		Supplier Product (	Code:	
Agency Notes:		Supplier Notes:		

PNC2115756C101-53 Furnish and Pla	ce Crosswalk				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction, Inc. [Ad]	First Offer - \$125.00	7 / each	\$875.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	Alt 1 - \$125.00	7 / each	\$875.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: re type	ode: re type		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$270.00	7 / each	\$1,890.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc. [Ad]	First Offer - \$420.00	7 / each	\$2,940.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$444.00	7 / each	\$3,108.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$580.00	7 / each	\$4,060.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-54 F&I, Reflective Pa	vement Markers				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$4.90	935 / each	\$4,581.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo	First Offer - \$6.00	935 / each	\$5,610.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$6.00	935 / each	\$5,610.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$6.00	935 / each	\$5,610.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	Alt 1 - \$6.00	935 / each	\$5,610.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: re ty	* *		
Man Con Inc. [Ad]	First Offer - \$7.00	935 / each	\$6,545.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2115756C101-55 Remove of Equipment from Public Right of Way						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo	First Offer - \$330.00	220 / day	\$72,600.00		Υ	

	oounty oo.			Page 19 of 20
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	Ü
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$336.3636	220 / day	\$73,999.992	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Man Con Inc. [Ad]	First Offer - \$500.00	220 / day	\$110,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction, Inc. [Ad]	First Offer - \$677.00	220 / day	\$148,940.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Ric-Man Construction, Inc. [Ad]	Alt 1 - \$677.00	220 / day	\$148,940.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: re type	ode: re type	
Giannetti Contracting Corp.	First Offer - \$1,029.00	220 / day	\$226,380.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

## **Supplier Totals** f Lanzo \$9,550,573.00 (55/55 items) **Bid Contact** Address 125 SE 5 Ct **Robert Beaty** Deerfield Beach, FL 33441 prajwala@lanzo.org Ph 954-979-0802 Fax 954-979-9897 Supplier Code VC0000023787 **Agency Notes: Supplier Notes:** Head Attch: Bid \$232,000.00 **Allowance** f RIC-MAN INTERNATIONAL [Ad] \$11,732,097.492 (55/55 items) Bid Contact Hamill Andrade Address 1545 NW 27TH AVE bid@ric-man.us POMPANO BEACH, FL 33069 Ph 954-426-1042 **Agency Notes: Supplier Notes:** Head Attch: Bid \$232,000.00 **Allowance** f Ric-Man Construction, Inc. [Ad] \$11,838,755.00 (55/55 items) Bid Contact Edward Mancini Address 42600 R. Mancini Drive mwilson@ric-man.com Sterling Heights, MI 48314 Ph 586-739-5210 Fax 586-739-8290 Agency Notes: **Supplier Notes:** Head Attch: Bid \$232,000.00 Allowance \$12,343,896.00 (55/55 items) Giannetti Contracting Corp.

## Broward County Board of County Commissioners

Exhibit 1

Bid Contact	Marcie West	Address 1801 NW 18 Street	Page 20 of 20
	marcie@giannetticorp.com Ph 954-972-8104	Pompano Beach, FL 33	069
Agency No	tes:	Supplier Notes:	Head Attch: 』
Bid Allowance			\$232,000.00
f Man Cor	lnc. [Ad]	\$13,429,794.00 (55/55	items)
Bid Contact	Penny Camarra pennys@mancon.ws Ph 954-427-0230 Fax 954-427-8133	Address 3460 SW 11th Street  Deerfield Beach, FL 33	442
Agency No	tes:	Supplier Notes:	Head Attch: ป
Bid Allowance			\$232,000.00